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Principles of L.K.No. 1556 Paper Code No. 6541 (..'J:/(u'/b’) de-’-yg);
Economics 3 ’ - _
paper : 1 (Objective) ' (I5CA. Exam. 2024) . Y
Time : 20 Minutes Inter (Part - 1) , 220 1 2
Marks : 15 Session (2022 - 24) & (2023 -25) ., 15 el
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Note: Four choices A, B, C, D to cach quusuon arc given. Which choice is correct, fill that circle in
front of that question number on the objective Bubble Sheet. Use marker or pen to fill the
circles. Cutting or filling two or more circles will result in zero mark in that question. ;

The welfare Economist is: ' :q_o?b»ﬁldlﬂ -1

Keynes / (D) Adam Smith #2741 (C) . Marshall J:JL (B)  Robbins A (A)

When total Utility declines , the marginal Utility is: : :_‘Lt'xuli’?‘.{}{_t'/CJG’JQa -2
Zero 4 (D) Maximum srbicwli (C) Positive =% (B)  Negatize ¢ (A)

r'_b':‘tdb' u.f,w/ﬂ._.:’ d/r'_d Ib/ﬁ,wu;}l? -3
According to Law of Supply , there is relation in Price and Supply:

Indirect £-1¥L (D) Negative ub,d" (C) Increasing d/’( (B) Increases u’:&‘ (A)

At equilibrium Price , demand a-nd Supply: : . :y/J:!J{ofuJ’P -4
Become Equal (fdbsisls (B) Increases Jrdba% (A)
Are Different u:&r.—off (D) - Decreases u:(jb:‘[ (€)
When average Product Increasing , Marginal l’rodixct: :1':’4;-(??4"..6"/.)':’4.;&:!..—2 -5
Is Zero a_dl;v / (B) b Decrease z‘;.g:lbf (A)
| Also Increases a_dtm J’ (D) [s Negative .::..Jlg;:gj) (C)
Average revenue is equal to: L !c‘_(}:ul.cd:‘:b,l -6
AC Jlehol (D) MC e (©) MR 457 (B) Price =4 (A)

e Qe d 2 300 o | 1

Undcr Perfect Competition the Price of Commodity is determined by:

Consumer = /s (B) Government c..../:G {A)

Equilibrium of Demand and Supply LU/')’L#H"J ©)

L Finance Minister = = ’i/u (D)
The reward of organization is called: " . , :c‘_t‘llzc,ubﬂb’(f’ -8
- Interest 1y~ (D) Wages o4l © Profit &t (B) Rent & (A) g
The Gross National Product includes: ' ‘e (}:«J l}g}f/’:l&d}fu -9

Foreign Production J"‘»_&;Jt;)’,_. (B) Domestic Production J'Jl,v.dﬁu:uf (A)

e Agrlculluml Productlon Jb’yJu_J/ (©)

e Domestic & Foreign Production slsixg Ju:/-ulu.u»' (D)
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| [ A SR Vi A : F == 3 . o
The amount of money for wear and tear is called: =UILU{©F:'7'£¢—£/;J&L;, l’ﬁ*
Total Expenditures ..-'-Ig'/"'uf (B) Depreciation Expenditures =bl? "CL{»‘) (A)

Fixed Expenditures «=lol1z0- (D) Marginal Expenditures =l 317 ©
The formula of quantitj' thcory of money was presented by: kﬁ? Uy JG@I
Pigou & (D)  Malthus L.Lr’i (C)Lord Keynes 3,0 (B) -~ Fisher & (o)
The difficulty in Barter System was: : JJ»‘;{}—’;‘LTE
No Double Coincidence =2bs ity (B) Availability of goods (71 ‘!":.:' (A)
Supply of Commodities 42! (D) Difference of Language J/¥uls (C)
The rise and fall in economic activities is cnlléd: =+H.'Wil'2-¢uw‘& Ue(" hl; |
: Trade Cycle £ LK (B) International recession u’fo) ¢ (A) |
International Trade = 5 Sl (Dj | National Income L}if‘f J (C)

?%t'lfqg,((fuljjd’&lﬁn?'d’)i_"l&%’(J Ve 73|14

The Value and Volume of goods and services sent to other countries is called:

Exports =47z (B) _ Imports =475 (A)
Foreign Aid :w(s,,_-‘ (D) - Foreign Remittances all:]f /_* ©)
The meaning of Zakat is: ‘e i) 1]
Purification J ﬁ.(‘l; (B) ; ‘Growth (b (A)
Growth and Purification J ﬁ/&ufu:fj (D) : , Tax Jg (€)
, ; Ve

[ B. S| *C -7~ A %] <D 8]- Dei4] B> <3].> ‘A 2]l +B .
C 15| B -14]| B 13| B -12] A -11| A -10] A 9

AT

Inter (Part-T) f 1556 — 2000 : A
Principles of Ist. Exam. 2024 " ] Tyt
Economics | I
(Subjective) nter (Part - I) )
- - & -
60 : ) (2022-2024) & (2023-2025) o 21054

(32 e §306S2 F iz L NIN6 - 6) Sl 28 23 i iy (PR 0 i)
;‘464){.34.3':',&2‘}_/6/,,{’, 2 a6 Fatirife Mt V
Note: It is compulsory to attempt any (6 - 6) parts each from Q.No.2, 3 and 4 while attempt any (03)
questions from Part Il. Write same Question Number and its Part number as given in the
question paper. ‘

36=2x18 (Part I J;L“’) " [Make Diagram Where necessary, -u:fhrl/:c'lmdﬁ/suv

2

Define Economics according to Prof. Adam Smith. ?Sé'UL‘bi’/JJal;VJWLJ?J_' 0]

&« OV | ST T Y S Y
"..c"..t'/réj.{Q‘JJJJJFJJ'.:)»(‘.";&,,_;/;,h..)”u-‘)"&,zc_H;H'bﬁ&L/;b‘n

According to Adam Smith economics can be defined ag follows "ECOHOI"(]iCS is ; science whic

discusses the production of wealth, consumption of wealth, distribution of wealth and exchange®
wealth". *

4..—-—/
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-dfukuki)bJJ}J)u‘J/"j (ii)

Write merits of Prof. ﬁobbins definition of Economics.

7

-u_rdx(ﬁﬁ{mﬁmy;,’;u:;,w}un 2 st BF0UN A iR
- g Z el 4 -t -3
1. Human desires are unlimited 2. Some of thes¢ are more important and some less important
3. Sources are limited 4. Sources have alternative uses
state Importance of Economics in your own words. -éubuﬂwlg_luﬂ&.al/b' (iii)

et S e ot sihsre boabi f; )U;Luuucjg,)‘uu A R

Economics is a science that studies human behaviour what he adopts whlle fulfilling unlumtcd
desires with limited means.

Descrlbe the meaning of Demand. ) - _,_;fu ,{‘b’J (iv)
-:’)i’:‘udiiu:’JLL._ubé.cﬁaﬁ/idr_u’lﬂflc’_ﬁr_’. /LJ ol

Demand refers to a desire for 2 commodity that the consumer has the purchasing power to satisfy.

Write four causes of change in demand. ' u‘duL:r”Jlr(,( (J' rLhEAL W)
doter 4 derd? 30 derde 2 dweed a2

1. Change in price 2. Change in Income 3. Change in fashion 4. Change in weather

Why is slope of supply curve positive? Tc.t‘ndx.r 2t (vi

-LJW/”KZ../"JJ:L.’l.a’u'u"'w..uwl.sb'u’qu‘u&,isJLru»:(ib’ﬁyzb fp'-d

Reasons for the slope of the supply curve to be.positive include increasing profits, increasing
production costs, and risks of falling prices.

State meaning of equilibrium quantity. -J/ubrf(/ut’dﬂ; (vii)
' -f..d:LJLJJC_Lfrd'd,u._zc.dy.ﬂyww’dﬂ! HeIT

Equilibirum quantlty is the quantity when there is no shortage or surplus of a prod .ct in thc market.

Write four limitations of Law of Diminishing Marginal Utility. u‘quwb(! f" bk)’w UIF (viii)
-.-Julifjt' 4.1 ‘f?'(!jl/'»:" -3 H‘ -2 =il -1 H] 4

1. Wealth 2. Knowledge 3. Display items 4. Historical artifacts

Describe Law of Equi-Marginal Utility. -J/UL;J/"'J '(".‘.’;:Gldsb'uiﬁ' (ix)

(‘;ubrcc./clfc.bd/b/b)’gﬂ/fl/’..&u'f/»id U/_’JLﬂ..ﬁLLz_/U’lL’ub'utz;utz el

Ut FESslag I8t f sl

To obtain maximum utility, a consumer should spend his limited amount of money on various goods

in such a way that he gets the same marginal utility from each good, this law is called law-of

equi-marginal utility.

Describe the Law of Decreasing.Returns -u’/—d}’JJ'wau)G' (i)

P edBoivaiznts g e LSS F U L NS A2

If the final product does not start falling, by increasing the units of the variable factor on a given
factor (land) then it is called the law of diminishing return.

What is meant by Marginal Product? Also write formula. u"qf Ursbfe s /U,G-J’JU‘(J (i)
-u”éﬂ:lyr‘;cfa.t'r.:blligﬁ/lﬂy Jc.—Lgdb/u l;.fJJl; Ulj"

(} )VL):/LU’(;J’)LV = e ‘.,_\; Wyosb
GALIEIL L g

The increase in total production by the employing one additional unit of labour is called marginal
production.
Formula:

\

MP = AY Ea Lpdi 5 Change in quantity of output product
AX Change in the firm's use of the input
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What is Average Fixed Cost? - e diwp,, (i
.':?-Jb/u.}‘!}"'{; NPT Ty v e L/(f;' Mg l)/’(""’w;-?.“y"".‘w-'&"bsl 'olp
- . ) ’ ' "j‘?L”h—;lw
Average fixed cost is obtained by dividing total fixed cost by total output. Basically, average fixe
cost is per unit of output there are cost. ) '

Total fixed cost .J;LA‘.'_A,PJ/

= Average fixed CostINLzoahyf
. Total production J'IL_‘.-;{)/ ; Ry 5 o
"Explain Opportunity Cost. "‘J-:’r ?’L’)JJJL"JJP (iv) |
P Il L LS A I e e e 2 falya Shadip -y
Opportunity costs refer to the amount paid to divert a factor from an exchange use to a specific yg,
necessarily.

What is Average revenue? Also Write is formula, -U-Jm” b ?%’VL:(‘—J"’M' ‘)
J(d:": J’._:_'. z i..f(.-h‘;.l?_ ax J’b (jb’i d (el &J/"JJU’& L{,.“:((/U)}{- f/ 0l d"” L:’!’ ol

: | e b e UF Il e
Average revenue refers to the amount that a firm earns from selling the average unit qf its output to
total revenue divided by units of production sold.

Total revenue dr"uf

= Average revenue Usshost
Units of produgtion U1 :

Does 2 monopolistic firm always earn abnormal profit? ?g_dU/dVd!"/:.;%()J’J'JWE( (vi)
L.IJ:‘;:.—-EnLJ;:_a:_l,}(;i@bbulg'ﬂf_t‘@k_«(»‘j{u!‘r uc‘,usrgt/uﬁ',l:wK(}J,ldg’zfq.‘dﬁm(gi ‘iR
' _ '_é"_.t'(«(db‘d!p /:f '
In a2 monopoly, the employer does not have competition with another firm, so it is generally assumed
that the monopolist can'charge the maximum price for its product earns abnormal profit. io
What is meant by Long - run? ??_)'/‘gd.(}.).lf (vii)
Sl Tk & k::w'c,-'rflﬂ//d'bi’éf UL LA A S e b Ul pa J A f (o
: ‘ : -@Lﬁﬁaﬁlgdék(awu:syz_/»‘a.(}c/&f
Long run refers to the time in which the firm can change its size or i,e. in this period the firm is also
in its defined factor of production can chqngc in other words, all factors of production are variable.
What is meant by Entrepreneur? ; Sl e 2T (vii)
7 g . ~ e » - < ™ < 3 k - g
£ L,v;@_f,»'(fﬂ,u: LY K‘!Af( JJ@:J l‘/:fa.f ,,:,uL/._ﬁ,g,Jguui',:t, e iR s M pe 2 o

Entrepreneur is a person who combines land, labour and capital and decides how many units of
every factor of production be employed and which to be produced.

Define Labour. ?é..)l/b(a_:»” (ix)
< ;,YLKHL"{K)K'/’-KL{J}’GJ&’VJ}%J)KOWLJBJ‘QL}UVGw_c_ﬂk Juy’)&-j o

. -e-tlkfwdu—etlngb’uMI - :
Labour is the second factor of production. Labour.refers to the mental or physical effort of a human
being which is done for a reward. The teacher's teaching is mental abe -

ing of
; abour whereas the ploughing
the farmer is called physical labour. al i

Explain the ‘ransfer Payments, . A
v xpl:am.lth-c c'o'ncc‘[.)t of'.l-f;:“ 't,r '}f“e'“‘z i _é‘;@b,&,.aﬁu%gbldﬂﬂ’ ¢
*’ﬂ-"’JL"J’L’?"L‘ﬁ’:’IZ" J‘J’U'dlgj‘u{-'Wwd”‘-}‘béw/;’)f‘f’zﬂ}w&ﬂ . L} ,uL—E'J'dL{” '.‘JM
Transfer payments are the amounts that a person receives withot s b o
allowance, zakat, charity, pension stipend and gifis e(c.
Define Gross National Product. e (7
- . . WESSP AL 4 |
-u_?'é)hl&‘frbf&fld}ljsJuluz&/”&uau)ulfcfLﬁ:,(}ldfﬁtydb:"u’ ,,ibﬁizjr :‘{’}: i
. < Jnd Lh N f

7 : 3 s .-
All goods and services consumed by the people of a da Srai - MlacS el = sl rv

. : men
1t working hard like unemp!oy”

ount i s s t
‘w the year within the cout?,_— l

ry
A
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market value is called gross domestic product. .
Net National Product = Gross National Product — Net Foreign Income

Explain the Concept of Barter System. . - =2 s 9L Dbyl (m)
PRV A LB Db bile d sl 26K gL e Dbartinls w2

parter system means direct exchange of one good with another good while money is not used as a
medium of exchange.

Define Paper Money. . -é - /‘]fudﬁ ¥ (iv)

g_,,;fd:‘ﬁ'u..a)’.'-u'abéd/loc_ J)JJd)}LJﬁ?wLKu!Q’ L.Lﬂb’)/«;-udﬁ( 7 4
VAL 2 BB ey

Paper money refers to notes made of paper which are lSSllCd by the government or the central bank.

These notes are legal tender which havc to be acccpted as instruments of exchange in ordinary
transaction.

What is mieant by Depression? : ¥ Yf-.:’/brédbﬁ \))
fﬁ&&*fubﬁu_c‘;'dlgnof,' A:'A_;.:«Lénnl.:l d byer 'UV/;'JVJ.J”L/L; QI el
: : -uj&db&f»dl‘ad[’xu‘;‘

In the era of trade cycle the economic activities are extremely slow. It decreases the production of
goods and services. The level of employment and income is also decreased. This era is called
depression.

Define the Balance of paymcnt . -éJ}’JLF Il i1y (‘ i)
f uru/uulfuur_,u l/:(}//:d/rl/»h_«u ud//,d/(udw.w*:./[. JV..f iy g u’(
-c.t’tlf

A country's balance of paymcnts accounts for all tangible and intangible exports and all tangnblc and

intangible imports in a year are called balance payment. .

Explain the Concept of Foreign Market. ~ é oL P (S 2 JU’,&‘ (vii)
' -xdewwﬁ;muuu*.ﬁ VL sle K lug e SniblpeSirboys w2

Foreign market means a place where trade is done on international level between foreign countries.
What is meant by Direct Tax? Tes /Lfa, “=rlnlt (v in)

chﬂf-ét‘ﬂ/g/&f’:ﬂlu/bal/cc/fj‘é 'c.l’/r'ﬂd‘u’[!!/gfiu;u
A tax which pays the same on whom it is applicable and cannot be camcd forward is called a dlrcct

tax. For.example, income tax :
Describe the Concept of Zakat. -J/ukrfb”f/ (ix)

u’&f/_/_z,/uf/’a,u’dl.c_l/»"cf.c'.l/’(f.wiu‘uvl;pUu,uﬁuu/uw.)lavf;/r_uC W} 4
Y PRSI et T

Zakat refcrs to the obligatory obhgatlons ofa Mushm which he pays out of his wealth as a religious
duty at a fixed ratc to the bereficiaries through the mtermednary of the Islamic go»emmem or

directly.

(24=8x3) Ji% (PartII) (.=
8 é..pbuc,ud/ '/ﬁfwfu!rfJu'f J/UVJQJG‘ =

!

Describe the Law Demand. Also explain it with the help of table and diagram. .
8 . _é l/ﬁl:a/lrj:a’J»JLo:JJ’ lv/j I %
Explain law of Increasing Return with the help of schedul and diargam.

8 o B
Explain the different Characteristics of Land. ]
8 . ’ -C{u’ LJJL(H’J)“IJLLS& ld!’ ’; / «I‘V.
Explain the different concept of national income. .

8 i &£ wGAES s

Explain various principles of taxation in an economy.
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